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1 REKEIE 1.00 = 35,000 35,000
2 REBEBEXIE 1.00 = 35,000 35,000
3 {mEEhAL 100 = 40,000 40,000
4 EBE-AT-ER 11600 m 1,100 127,600

[NE]

1 SERE

1.00

250,000

250,000

237,600

[/hEt]

250,000

1 HBEM B IE B o 3509 iF 35,000 1,228,182
2 PN FA MK HRVEOH | 3509 1F 23,500 824,636
3 mIE JLhvk ZomIT 3509 i 10,000 350,909
4 =YK 35.09 | i 1,250 43,864
5 EfE 300 H 20,000 60,000

[NE]

2,507,591

1 |ALC 37mm

211.00

5,500

1 AAEBIE 63.80 m 13,200 842,160
/&t 842,160
1 KIIZH RgEESL 3509 iF 54,000 1,894,909
2 BTHE 700 AT 15,000 105,000
3 IL—r& 100 = 45,000 45,000
/&t 2,044,909

1,160,500
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HRETETE R¥No.
ALC %% 21100 m 3,200 675,200
2 MR 100 = 75,000 75,000
3 a—F— 3600 m 5,100 183,600
4 HXIZE 1200 m 5,400 64,800
5 NSUATi 1160 m 7,500 87,000
6 EMLH 100 = 100,000 100,000
7 =% 22000 m 600 132,000
/&t 2,478,100
e ]
1 ALY L 035 6380 m 5,500 350,900
/&t 350,900

1 SRR 100 = 0 0
2 EBX EE 1200 m 0 0
3 sEEyL Y 000 m 0 0
4 EUYEE 000 m 0 0

1 B8 yil o] 2500 m 2,400 60,000
2 BXE BE 60 @ 2800 m 2,100 58,800
3 =MK 6000 {& 650 39,000
4 FLY 6.00 {& 2,400 14,400
5 IR 400 f& 700 2,800

1 SRR

44.00 m

1,300

175,000

57,200
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2 AA)L T 1200 m 4,500 54,000
3 ZKER—FEAIILAELET 1200 m 15,400 184,800
/Mgt 296,000

1 |FRPBAIK

11.60

12,100

140,360

4.00

4,300

17,200

[N

MEER

157,560

1 YKK

35.09

%

28,000

982,545

[NE]

1 9nzB4Y

EE/AR

350.00

900

315,000

982,545

2 Jwiaroary—

10.00

2,100

21,000

[/hEt]

1 RERES

1.00

650,000

650,000

336,000

[NE]

1 RERES

1.00

600,000

600,000

650,000

[/MEt]

600,000

1 EEM

THhEM SRE

35.09

34,000

1,193,091

1 EE-EEM

22000

35.09

20,000

701,818

1,193,091

2 AzZwk/AR

16164 X

1.00

320,000

320,000
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3 SEHEILHE 100 = 65,000 65,000
4 L 200 = 85,000 170,000
5 FyFv HR 100 = 390,000 390,000
6 fRiZen Iafa—+h 100 =K 230,000 230,000
[/INEt] 1,876,818
18 #IT=E
1 hEIE 100 = 70,000 70,000
2 ASUHFER 100 = 120,000 120,000
3 24BfEHASR S AT L SFEMR 100 = 350,000 350,000
4 EEREIFE FREY 100 3 150,000 150,000
5 PSR FRIZE FREY 100 = 200,000 200,000
[/INEt] 890,000
19 RIGRE
(RBSHERE-EMIAE-HMHEELIEE) 100 3 1,586,827 1,586,827
Nt 1,586,827
¥/ EE 17,455,101
= 6,747,329 Fi%l fE51=
MHE 10,707,772 Fi 3 &t 17,455,101 497,425 /1
At 17,455,101 Fi 51
HER 1,745,510
BEESE 19,200,611




